Solution for the Paper 1
ISC XII ACCOUNTS 

Section A

Answer All

Question No. 1                                                                                            [2 marks each]

a) How is realization account prepared?

Realisation Accounts is prepared in the following manner:

· All the realisable assets given in the books of the firm are entered at their book values on the debit side of the Realisation Account

· All the external liabilities are entered at their book values on the credit side of the Realisation Account

· On the realisation of assets, the actual amount of cash received is entered on the credit side of the account.- Cash/bank account is debited
· On the payment of liabilities, the actual amount of cash paid is entered on the debit side of the account. Cash/bank account is credited
· Realisation expense if any, is also debited to the Realisation Account and bank account is credited
After making the above entries in the Realisation Account, the account is balanced. The profit or loss on realisation is transferred to the capital accounts of all the partners in their profit sharing ratio.

b) Distinguish between ‘Selling overheads’ & ‘Distribution overheads’ with examples.

	Selling overheads
	Distribution overheads

	These are indirect expenses incurred in soliciting and securing orders from customers and efforts to find and retain customers

Examples:

· Salaries and commission to sales personnel.

· Advertisement and publicity.

· Showroom expenses.

· Exhibition expenses.

· Bad debt

· Collection charges


	These are indirect expenses incurred from the time product is completed in the factory until it reaches its point of sale.

Examples:

· Rent, rates, warehouse insurance

· Depreciation of delivery vans.

· Wages of dispatch clerks.

· Freight and insurance charges.

· Discount, commission and brokerage,

· Sample expenses.




c) What are the advantages of stores ledger?

The advantages of stores ledger are:

· As it contains a continuous record of stores received, issued and balance in hand, it shows the current stock position.

· As it contains record of materials both in terms of quantity and value, it shows the amount of money invested in stock.

· It enables the cost accountant to ascertain the stock in hand without actual verification.

· It facilitates pricing or valuation of materials issued to production.

d) What are the different types of ledgers?

The following are the different types of ledgers:

· Debtors Ledger: It contains personal accounts of trade debtors to whom goods are sold on credit. This ledger is also called sales ledger or sold ledger.

· Creditors Ledger: It contains the personal accounts of trade creditors from whom goods are purchased on credit. This ledger is also called purchase ledger or bought ledger.

· General Ledger: It contains all real and nominal accounts and remaining personal accounts like capital, drawings, loan, bank overdraft, etc. This ledger is also called nominal ledger. 

e) What do you mean by liquidity? What are the liquidity ratios?

Liquidity is the ability of a firm to meet its short-term debts like creditors, bank overdraft and expenses payable. Liquidity ratios are of two types:

· Current ratio = Current assets/ Current liabilities

· Quick ratio = Quick assets/ Current liabilities.

f) What are the advantages of cost accounting to the management?

Cost accounting helps the management to measure its performance or efficiency. The management can measure its performance by comparing cost per unit in one period with the cost per unit in the preceding period. Production can be regulated in accordance with cost information. The exact cause of variations in the profit or loss disclosed by the financial accounting can be identified.
g) Explain the following:

· Sacrificing ratio: Sacrificing ratio refers to the ratio in which the old partners sacrifice portion of their share of profit in favour of new partner. Thus, Sacrificing ratio = Old ratio-New ratio
· Gaining ratio Gaining ratio refers to the ratio in which the remaining partners gain the share of the retiring partner on his retirement (can be on the death of a partner). Thus, Gaining ratio= New ratio – Old ratio
h) How is stock turnover calculated? State its significance.

Stock turnover ratio= Cost of sales or cost of goods sold/ Average stock = x times
Stock turnover ratio establishes the relationship between the cost of goods sold during a given period and the average amount of inventory carried during that period. Higher ratio indicates that more sales are being produced by a unit of investment in stocks. The objective of computing inventory turnover ratio is to ascertain whether investment in stock has been efficiently used or not. A low stock turnover may reflect dull business, over investment in stock, accumulation of stock.

i) List the various adjustments required at the time of admission of a new partner.

Following adjustments are required at the time of admission of a new partner:

· Calculation of new profit and sacrificing ratios.

· Valuation of goodwill and its adjustment.

· Revaluation of assets & liabilities.
· Distribution of accumulated profits/losses.

· Adjustment of partners’ capital accounts & preparing the balance sheet
j) What is a memorandum revaluation account?

A Memorandum Revaluation Account is a nominal account prepared at the time of admission, retirement, etc., when the partners decide that the revised figures of assets and liabilities are not to be shown in the new balance sheet.

k) Define the term ‘cost’. What are its elements?

Cost is a sum total of all expenditures incurred in producing and selling a product or in rendering a service or in performing a job.  For example, for making a wooden table, money has to spend for three elements like raw material (Wood), labour (Wages to carpenter) and other expenses (rent, insurance, lighting, etc.). The total sum spent on material, labour and expenses constitutes the cost of the wooden table.

Cost can also be defined as “ the measurement, in monetary terms, of the amount of resources used for  producing goods or rendering service”.

Elements of cost are:

· Material cost

· Labour cost

· Expenses

l) How do you explain ‘low gearing’ and ‘high gearing’

Gearing ratio is the ratio which expresses the relationship between equity capital and fixed interest capital and fixed dividend capital.

If the fixed Capital (long-term loans, debenture and preference share capital) is more than the equity shareholders funds, the company is said to be ‘highly geared’. If the equity shareholders funds are more than the fixed cost capital the company is said to be ‘low geared’.

m)  Distinguish between ‘direct material cost’ and ‘indirect material cost’ with examples.

	Direct material cost
	Indirect material cost

	Refers to the cost of materials which become a major part of the finished product. Such materials can be identified in the product, measured and chargeable to the product. For example, timber used in wooden furniture, leather in shoes, clothe in shirts, etc. 

	Refers to cost of materials, which cannot be easily identified and allocated to particular product. These materials do not become a major part of the finished product. For example thread used for stitching shirts, nails in furniture, glue in shoes, etc.


n) How is a ‘cost sheet’ different from a ‘balance sheet’?

Cost sheet is a statement designed to show the output of a particular period along with break up of costs incurred. Balance sheet is a statement of assets and liabilities of a firm/ organisation prepared on particular date to find out the financial position of the firm.

Cost sheet is not compulsory and prepared for the purpose of internal use where as the balance sheet is compulsory to prepare and use by both internal and external users.

o) What do you mean by reserve capital? How is it different from capital reserve?

	
	Reserve Capital
	Capital Reserve

	a)
	It refers that portion of uncalled share capital which shall not be called up, except in the event of winding up.
	It refers to reserve that is created out of profits.

	b)
	It refers to the amount, which has not been received.
	It refers to the amount, which has already been received.

	c)
	It is not shown in the balance sheet
	This amount is shown in the balance sheet under the heading ‘Reserves & Surplus’.

	d)
	This amount cannot be used up during the lifetime of the company.
	This amount can be used up during the life time of the company for the specific purpose


Question Number 2                                                                                        [22 Marks]
Evan  Limited
Profit & Loss Account

For the year ending 31 March 2006

	Particulars
	Rs.
	Particulars
	Rs.

	Stock

Purchases

Wages

Gross profit c/d

Salaries

General Expenses

Depreciation

Preliminary Expenses

Debenture Interest

Bad Debt

Provision for  doubtful  debt
Provision for Tax

Profit & Loss App. Account
	15,00,000

37,00,000

19,59,600

30,40,400

102,00,000

4,04,500
1,36,700

9,90,000

10,000

7,20,000

42,200

17,000

72,000

6,48,000
	Sales

Closing Stock

Gross Profit b/d
	83,00,000

19,00,000

102,00,000

30,40,400



	
	30,40,400
	
	30,40,400


Profit & Loss Account Appropriation Account
	Particulars
	Rs.
	Particulars
	Rs.

	Interim Dividend

Balance c/d
	7,85,000

3,88,000
	Balance b/d

Profit & Loss Account
	5,25,000

6,48,000

	
	11,73,000
	
	11,73,000


Balance Sheet
As at 31 March 2006

	Liabilities
	Rs.
	Rs.
	Assets
	Rs.
	Rs.

	Share Capital:
Authorised:

Issued

Subscribed Share capital

Less: calls -in-arrears

Reserves & Surplus:
General reserve

Profit & Loss Account

Secured Loans:
Debentures

Interest due

Unsecured Loans:
Current Liabilities & Provisions:
Current Liabilities

Bills Payable

Provisions:

Provision for Taxation

Contingent Liability:

Workmen’s compensation being disputed by the company Rs. 60,000 


	80,00,000

150,000
60,00,000
3,60,000


	78,50,000

500,000

3,88,000

63,60,000

15,40,000

72,000
	Fixed Assets
Goodwill

Machinery

Less: Depreciation

Premises

Investments:

Current Assets, Loans& Advances:

Current Assets

Stock

Debtors

Less: Provision

Cash

Miscellaneous Expenditure;

Preliminary Expenses


	66,00,000

9,90,000
17,40,000
87,000
	500,000
56,10,000

61,44,000

----

19,00,000

16,53,000

8,13,000

90,000

	
	
	1,67,10,000
	
	
	1,67,10,000


Section B
Question No. 3                                                                                     [ 2 Marks each]
a) Inventory turnover Ratio= Cost of goods sold/ Average stock

Rs. 630,000/ Rs.59,000 = 10.67 times.

b) Working capital turnover Ration = Sales/ Working capital

Rs. 10,80,000/ Rs. 88,700 – 12.17 times
c) Earnings per share: Net profit after interest tax and preference dividend/Number of equity shares

Rs. 280,000- Rs. 9,600/ 25,000 = Rs. 10.81

d) Gross profit Ratio= Gross profit/ Net sales x 100

Rs. 450,000/ Rs. 10,80,000 x 100 = 41.67 %

e) Net profit Ratio = Net profit/ Net sales x 100

Rs. 280,000/ Rs. 10,80,000 x 100 =25.92 %

f) Current Ratio= Current Assets/ Current Liabilities

Rs. 70,000 + Rs. 92,000 + 41,800/ Rs. 68,000+Rs. 9,600+Rs. 37,500
Rs. 203,800/ Rs. 115,100= 1.77:1

Summary:

	Ratio
	Answer

	Inventory turnover Ratio

Working capital turnover Ratio

Earnings per Share

Gross Profit ratio

Net Profit ratio

Current Ratio
	10.67 times

12.17 times.

Rs. 10.81

41.76 %

25.92 %

1.77:1




Question Number 4                                                                 [ 1 mark each]
Sam

Journal Entries

	Particulars
	Debit

Rs.
	Credit

Rs.

	Consignment Account                                        Dr.
To Goods sent on consignment

[Goods sent on consignment]
	15,000
	15,000

	Consignment Account                                        Dr

To Bank Account

[Consignor’s expense]
	500
	500

	Bank Account                                                     Dr

To Tam

[Advance received]
	2000
	2000

	Consignment Account                                        Dr                                                
To Tam
[Consignee’s expense]
	600
	600

	Tam                                                                     Dr

To Consignment Account

[Goods sold]
	12,500
	12,500

	Consignment Account                                        Dr                                                

To Tam

[Consignee’s commission]
	725
	725

	Bank Account                                                     Dr

To Tam

[Balance received]
	9,175
	9,175

	Consignment Stock Account                              Dr

To Consignment Account

[Unsold stock]
	3,150
	3,150

	Goods Sent on Consignment Account                Dr

To Consignment Account

[Load on consignment being written back]
	2,500
	2,500

	Consignment Account                                        Dr

To Consignment Stock Reserve Account

[Load included in the value of stock on consignment]
	500
	500

	Consignment Account                                        Dr

To Profit & Loss Account

[Profit on consignment ]
	825
	825

	Goods Sent on Consignment Account                Dr

To Trading Account

[Balance of Goods sent on Consignment A/c transferred] 
	12,500
	12,500


Note: Calculation of commission:  Rs. 150 x 80 = Rs. 12,000 x 5 % = Rs. 600
Rs. 12,500 – Rs.12,000 = 500 x 25 % = 125 [600 + 125 = 725]
Calculation of closing stock at invoice price: Rs. 15,000 + 500 + 250 x 20/100 = Rs. 3,150
Calculation of closing stock at cost price ; Rs. 12,500 +500+250 x 20/100= Rs. 2,650

Stock Reserve = Rs. 3150- 2650  = Rs.500

Question Number 5                                                                                                                                        [12 marks]
A& B
Realisation Account

	Particulars
	Rs.
	Particulars
	Rs.

	 Trademarks

Machinery

Furniture

Stock

Debtors

Cash A/c - payment of liabilities

    Bank loan          1,500

     Creditors           7,920

      Bills payable    500

Cash A/c -Realisation expense

	1,200
12,000

400

6,000

9,000

9,920

400
	Bank Loan
Creditors

Bills Payable

Provision for debts

Cash A/c - Realisation of assets
    Debtors                     8,100

     Goodwill                  1,000

      Trademarks                800

      Unrecorded assets      200
A’s Capital A/c( Assets taken over)

Realisation loss

A                 210
B                  210
	1,500
8,000
500
400
10,100

18,000

420

	
	38,920
	
	38,920


Capital Accounts

	Particulars
	A

Rs.
	B

Rs.
	Particulars
	A

Rs.
	B

Rs.

	Realisation A/c ( Loss)

Advertisement Suspense

Realisation A/c

Cash A/c ( Balance paid off)
	210

500

18,000


	210

500

5,290
	Balance b/d

Cash A/c( Brought in)
	16,000

2,710

	6,000

	
	18710
	6,000
	
	18,710
	6,000


Cash Account
	Particulars
	Rs.
	Paticulars
	Rs.

	Balance b/d
Realisation A/c

A’s Capital  A/c
	2,800
10,100

2,710
	Realisation A/c
Realisation A/c

B’s Capital A/c
	9,920
400
5,290


	
	15,610
	
	15,610


Question Number 6                                                                                                                                         [12 marks]
Avi, Bvi and Cvi

Revaluation Account

	Particulars
	Rs.
	Particulars
	Rs.

	Stock

Debtors

Plant & Machinery


	3000

500

1500
	Land & Buildings

Creditors

Losst on Revaluation:

           Avi       800

           Bvi        400

           Cvi        200
	2,600

1,000

1,400

	
	5,000
	
	5,000


Capital Accounts
	Particulars
	Avi
	Bvi
	Cvi
	Particulars
	Avi
	Bvi
	Cvi

	Revaluation A/c( Loss)

Goodwill ( 2:1)
Cash A/c

Avi’s Loan A/c 

Balance c/d
	800

16,200

27,000


	400

16,000

30,600
	200

8,000

15,300
	Balance b/d

Goodwill

General Reserve

Cash A/c
	30,000

8000

6,000

	20,000

4,000

3,000
20,000
	15,000

2000

1,500
5,000

	
	44,000
	47,000
	23,500
	
	44,000
	47,000
	23,500


Balance Sheet

	Liabilities
	Rs.
	Assets
	Rs.

	Capital of Bvi

Capital of Cvi

Avi’s Loan 

Ceditors

Bills Payable
	30,600

15,300

27,000

14,000

2,000
	Land & Buildings

Plant & Machinery

Furniture

Stock

Debtors

Cash( 20,000+ 5,000 -16,200)
	22,600

25,000

10,000

12,000

10,500

8,800


	
	88,900
	
	88,900


Question No. 7                                                                                                 [12 marks]
Statement of changes in working capital

	
	Working Capital

	
	2001

Rs.
	2002

Rs.
	Increase
	Decrease

	Current Assets:

Stock

Debtors

Bills

Cash

Bank

Current Liabilities:

Creditors

Bills payable

Increase in working capital
	85,000

60,000

15,000

10,000

7,000

26,000

18,000
	78,000

90,000

18,000

22,000

6,000

53,000

12,000
	--

30,000

3,000

12,000

6,000
	7,000

--

--

--

1,000

27,000

16,000



	
	51,000
	51,000


Land & Building Account

	
	Rs.
	
	Rs.

	Balance b/d

Capital reserve

( Profit on sale)
	100,000

25,000
	Bank Account - Sale

[ Balancing figure] 

Balance c/d
	50,000

75,000

	
	125,000
	
	125,000


Plant & Machinery  Account

	
	Rs.
	
	Rs.

	Balance b/d

Bank Account- Purchase

[Balancing Figure]
	90,000

134,000
	Bank Account -Sale

Profit & Loss Adj Account( Dep)

Profit & Loss Adj Account( loss)

Balance c/d
	12,000

18,000

3,000

191,000

	
	224,000
	
	224,000


Profit & Loss Adjustment Account  

	
	Rs.
	
	Rs.

	Goodwill written off
Plant & Machinery:

   Depreciation

   Loss on sale

General Reserve

Provision for taxation

Proposed Dividend

Interim Dividend

Balance c/d
	13,000
18,000

3,000

10,000

32,000

33,000

10,000

27,000
	 Balance b/d
Dividend received

Funds from Operations

[ Balancing Figure]
	18,000
2,100
1,25,900

	
	1,46,000
	
	1,46,000


Funds Flow Statement

	Sources
	Rs.
	Applications
	Rs.

	Issue of equity shares

Sale of land

Dividend received

Funds from operations

Sale of plant
	1,00,000

50,000

2,100

1,25,900

12,000
	 Redemption of preference shares

Purchase of investment

Payment of tax

Payment of dividend

Payment of interim dividend

Purchase of plant

Increase in working capital


	50,000

25,000

28,000

27,000

10,000

1,34,000

16,000

	
	1,46,000
	
	1,46,000


Question Number 8                                                                                     [12 marks]
Cost Sheet - 2005
Output: 1000 Sewing Machines

	Particulars
	Total Cost

Rs.
	Cost per unit

Rs.

	Cost of material
Add: Wages

Prime Cost

Add; Manufacturing  Expenses

Works Cost

Add: Office Expenses

          Salaries

          Rent, rates and insurance

           General Expenses

Cost of Production

Add: Selling Expenses

Total Cost

Profit

Sales


	80,000
1,20,000

2,00,000

50,000

2,50,000

60,000

10,000

20,000

3,40,000

30,000

3,70,000

30,000

4,00,000
	80
120

200

50

250

60

10

20

340

30

370

30

400


Estimated Cost Sheet - 2006
Output: 1200 Sewing Machines

	Particulars
	Total Cost

Rs.

	Cost of material ( 80 + 16 = 96 x 1200)

Add: Wages( 120 + 6 = 126 x 1200)

Prime Cost

Add; Manufacturing  Expenses

(25 % of the combined cost of material and wages)

Works Cost

Add: Office Expenses

          Salaries

          Rent, rates and insurance

          General Expenses

Cost of Production

Add: Selling Expenses( 30x 1200)

Total Cost

Profit ( 1/9 on cost price0

Sales


	115,200

151,200

2,66,400
66,600

3,33,000
60,000

10,000

20,000

4,23,000
36,000

4,59,000

51,000

5,10,000
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